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And if because of Xny7 »%3; that is a dispute between 728 and 829

OVERVIEW

The X711 cites a case where a person told his 70178, I am giving you this 03 if we do
not have X1 within a month. When the month passed (without PX1w°1) the man
said (but) ‘I tried my best to have the X1 feast ready’; indicating that he does
not want the ©3 to be effective. The X3 says that this will depend on the dispute
between X271 »ax whether a 1°0°32 Xn¥y7 123 can nullify the v3 (X27) or not (»2x).

Mmoo comments; when the X713 states that the ruling in this case depends on the np17rn between
X271 2K -
—1»aN 11920 295 19990

That is only according to the reasoning of %2R (that our case is an example of Xny7 173
XU3) -
—Pa N ININ MDY SYAP KV STIVAY YON ZPYY MNP XA VAN
However 829 stated previously: ‘does he want to nullify the v3; he wants to
satisfy the stipulation (so it is not a case of Xv*32 Xny7 "173) -
:*N9N N39 1999 NY)
And therefore 839 will not argue here and will also maintain that it is a valid va.

SUMMARY

According to *aX any indication that he does not want the 72173 to take place is
considered a Xu 32 Xny7 "93 (but it is not effective). X271 maintains that a Xny7 173
Xvoa2 (which is effective) is where he wants to be Svan the v, but not where he
does not want the Pw17°2 to happen (there it is not effective).

!'»ax will claim that 837 will maintain in this case that the v is b2 since (according to »aX) his excuse of X177V K77 is
considered a Xv°)32 RNYT "3,
* The case there was a person gave a v with the stipulation that it should be nullified if he returns (home) within
thirty days. When the thirtieth day arrived he was on his way home but could not reach it because he could not cross
the river. The husband shouted, ‘see I have returned’. 58w ruled the va is valid since he did not return. »ax derived
from this that 32 Xny7 Y23 is meaningless, for here we have a case where the husband does not want the v to be
effective and nevertheless the v3 is valid. X327 claimed that in that case the person was not ny7 17731 that he wishes to
nullify the w3 (per se), but rather he is claiming that he fulfilled the stipulation and therefore the v3 should be va.
There is no ny7 *Y23 that he is Y021 the v3. The claim that he fulfilled the stipulation is invalid as X ruled there.
? In this case (of Xa1v &77) as well, X217 will maintain there was no Xny7 123 to be Yvan the b3, merely an excuse why
he did not fulfill his obligation. See ‘Thinking it over’ # 1 & 3.
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THINKING IT OVER
1. It seems that both according to *ax and X127, the 13 is not »v3;* so why does the
X3 say, X271 »2K7 Xn090? There is no argument !

2. When the X713 concludes °32m12 Xn27m1 (which is »ax), is that only that XnyT7 "192
X7 XN IRY Xv»12 or does it also mean that the case of PXw, or R v X7 (which
are considered Xny7 *123 according to X but not according to X27) is considered a
ny7 "93 (like »aR) and not like %27 who does not consider it a n¥7 "¥73 but rather
Y3 RIN MPPH?°

3. mdoIn compares the cases of 'RV X3' and "MK 1071 to the case of “RNXT 7,
that according to X2 they are not considered Xuv°»2 XnyT 123 but rather are Xn1°p?
»pa *xin.” Seemingly however there is a difference in the case of *Xnx7 i, all he
said was, ‘I was 0°pn the *Rin” — I am here! Therefore it is not considered a nv7 193
regarding 72, However in the latter two cases he seemingly did not say he was
o»pn the "Xin, rather he was explaining why there should be no v (either because
RITW or MR 10°1); this seems to be more like the case of 121 2107 772" where (he
also was not 2v2an the v3, but) he gave the impression that he does not want there to
be a v3.*

* See footnote # 3.
> See n'"m.
% See w"wn and 7"MX # 68 (on the Xn3)
7 See footnote # 3.
8 See (nMvn ") 191 772 30 7R Mwn MNaT
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